T T e = chgE RADERA TERICIEESERM (h) OMFELEATEIE REBIZFIRELEHBICMIZAHNTEIE 5
20234 o I RERE BEE iF'EﬁnJr@ KR MR (- LR T B O AL OB ETNE . AR SEEIT Bl - R KA -
4 A AT EZ = 5 EXH = 68 = 78 =TIE| =18 = ETIE| E3 = 9H ETIE EZ =
EIEE B [#hEE HRBIE = B | #EE YEREIR EIEE HiLEE FAED ERICEE LEEGENE] EFES B D WHiLEE EE T Bl YR EIR
1]t 1 [HES * 1] K [HES
218 2 2 | £ H 2 | & 2 |+
3 |4k 3 3|t A 3 | IR 3 | B
4 | 1K 4 41 H N 4 | 1K 4 | A
5 [ 1k 5 5 | 1K JK 5 [+ 5 [ &
6 | IK 6| £ 6 | N S 6 | H 6 | K
7 [t 718 7 [k % 7 | & AES
8 |+ 8|1 H 8 | K T 8 | &k 8 | &
9| AR 9 |k 9 | £ =] 9 |tk 9 |
10| A FHEE 10| /K 10| & B 10 | 4K NI~ 10| H
11 ] K FHEE 11] K 11] 8 X 11 ] 4K 11| A
12 | K 12| £ 12| A hEZEE 7K 12| £ 12 X
[FES 13| £ 13| & hREEE A 138 13 [ 5K
14| & 141 H 14| K FHEE ol 14 | 1K 14| K
15| & 15 ] 1K 15| K + 15 | 4K 15| £
16| A 16 | X 16| & H 16 [ & FHEE 16| +
17| B 17 | /K 17| £ 1K 17| R FhEER 17| B
18| k& 18] K 18] B X 18| & 18 | 1k
19| K 9] 2 19| A K 19 19| X
20| K 20| £ 20 | % 20| B 2RAEBI - 20 | K
21| & 21| A 21 | JK 21 | tk 21| A 21 | & HREE
2| £ 22| A PHEE 22| K 22| £ 22|k 2% HiREE
231 2 23 | &k FhEE 23| & 23| H 23| k 23| =
24| B 24 | K 24| £ )/N\—4 )L 24 | 1k 24| X 24| H
25| & 25| K 25| B EHEES 25 | 4k 25| & 25| B HEREE
26 | K 26| £ 26| A 26 | 1k 26| 26 | X HEREE
27 | K 27| 27| X 27 | 1K 271 H 27 | K
28| £ 28] B 28 | JK 28 | 1k 28 | & 28| K
29| £ 291 A 29| K 29| £ RRERT I 29 | 1K 29| &
30| B 30| 30| £ 30| B 30 | K 30] +
31| 7k 31| K 31 ] K
HE S FHE S HE S FHE S S FE S
HHKEH 5 0 EHAEH 4 0 EHREH i1 0 HHKEH 3 0 HHREH 3 0 HHIKEH i0 0
KEREH 7 0 RHAEH 6 0 AHAZEH 4 0 RBEAREH 6 0 AHAZEH 10 0 RE®REH 8 0
TH SRR R 15 #DIV/0! T H BRI 18 #DIV/0! THEE AT 1.7 #DIV/0! T E B 1.7 #DIV/0! T EE R 1.8 #DIV/0! T H R R T 1.7 #DIV,/0!
A B E B SR Y 30 #DIV/0! K B SE EpBE RS P 1 3.8 #DIV/0! N RS 46 #DIV/0! KB E B R 1 43 #DIV/0! R B E B RS R 1 3.4 #DIV/0! A B R B R 1 30 #DIV/0!
10R FHE S S 118 HE S — EiE . 1A FE S — 2R FHE S s 3A FHE S p—
E] EIGIEET HiEHR B[] 5] FEFA A B EGIEETE HRER ERIE EGIEEE REEA EEE BERA (&R HEEA E] ERIEEE REER FERKER
1] K EN 114K [HES 1 ETEl
2 | K T 2 | 1K 2 | & 2
3 | B 3 [k A E 3 60
4 | £ A 4 | 1K 4 | H 4
518 X 5 | K 51 A 5 e
6 | A 7K 6|+ 6 | X 6
71X X 718 7 1K 7 O
8 | kK & 8 | & 8 | K 8 |
9 | X * 9 |k HES 9 KBARER
10| £ 5] 10 | /K 10| + 10| H ETE
11|+ A [ ES 11] B Foay 11 [ &
12| 8 n 12| & 12| & 12 | 89
13| B K 13| & 13| K 13 | &
14| & P 141 8 14 K HEEE 14| K e
15 | 5k £ 15| A 15| & HEREE 15 | $&
HAES + 16| 6] & BAZE 6] £ 0
17| & =] 17| K 17| 17| B
18] £ A 18] & 18| A EtkSIBGE 18| A
19| 8 X 19| £ 191 A HEEE 19| K KREHEE
20| H X 20] + 20| X EEIIA 20 | & EHE
21| & g 211 8 21| k El =y 21| K
22 | K = 2| A 2| & 2|2 155
23| 1K T 23| & 23 | K 23 £
FHhEE 24| & =] SURTRALH—H 24| K 24| £ 24| B Ed
25| & K 25 | & 25| B 25 [ &
26| B I 26| & 26| A 26 | K 0
271 B 27| £ 27| % 27| &
28| Kk TEEE 28| H 28 | K 28 | &
29 | & TREEE 29| A 29 | K 29 | &
30 [ hEEE 30 30| +
Ll e — B 31k 2 g | | 1 OO 31| A B
T EX ] =5 FE] =5 =g ST I =i FE] EZ
T HAEH 5 0 FHRER 9 0 0 FHAREH 4 0 THAZEH 9 0 FHARER 3 0
RHARZEH 5 0 RHIREH 6 0 0 AHRZEH 10 0 RHARZEH 6 0 AHRZEH 14 0
T HEBERT Y 1.7 #DIV/0! T E BRI 2.0 #DIV/0! T E BRI L 18 #DIV/0! T E B R 1Y 1.8 #DIV/0! T E BRI A 20 #DIV/0! Bl=brgoli R 1.8 #DIV/0!
1K BB BRI T 3.0 #DIV/0! A B EBRERI T 3.8 #DIV/0! 1A BB BRI 1Y 39 #DIV/0! KB BB T 3.0 #DIV/0! 1A B EHRERT Ty 43 #DIV/0! 1K B EBHESRI Y 3.0 #DIV/0!




